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Try these!!!     (the answer might be a letter) 
 				 
			      
**super skill to learn:  write simplified version right under the problem. 

___    you can check to make sure you simplified it right, and you don’t have to hold as much in your head.  

______		
    
		






Try these!!!   
				 
			      
**super skill to learn:  write simplified version right under the problem. 

_14__    you can check to make sure you simplified it right, and you don’t have to hold as much in your head.  

______		
0 + 1 + 1 = 2				100 + 1 + 1 = 102
    
4 + 1 + 0 = 5			1 + 7 + 2 = 10

		
1 + 0 + 3  = 4			0 + 1 + 3 = 4

1  + 0 + 1 = 2


1 + 3 + 0 = 4
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